TS 1 Interrogation Eléments de correction

Exercice 1 :

a.2,+2, =1+2i+(—3+4i)=1+2i —3+4i =2 +6i

b. 7,7, =(1+2i)(—3+4i)=—3+4i—6i+8i2 =-3-21-8=-11-2i
c. 421—i22:4(1+2i)—i(—3+4i):4+8i+3i+4:8+l]j

4 QZ(—3+{1i)x(l—2_i) :—3+62i+4;—8i2 _5+10i ;o
z  (1+2i)x(1-2i) 1" 42 5

e.(z,) =(L+2i)° =1+4i+4i2 =-3+4

z,-6i _ (1-4i)x(2+21) 2+2i-8i-8i2_10-6i _5-3i
" 2,+5-6i  (2-2i)x(2+2i) 2% +2° 8 4

Exercice 2

z=(1-2i)(3+i)-5+4i=(1+2i)(3—i)—-5-4i
7=(1+2i)(3-1)—5-4i =3—i+6i—2i’ -5-4i =i

1.
2.
3.
Exercice 3

22—L:$z—2¢322—ﬁz:i—2¢:(2—3ﬂz=i—2

a) i—2 74
Sl=— ==
2-3i 13

b)
iE—4:2i—32<:>i2+32:2i+4<:>(i+3)2:2i+4
- 2i+4 7+
S1="""= = ——
1+ 5
Donc Z:%
c)

(2+i)z=4z-6i <:>(2+i)(a—ib):4(a+ib)—6i
< 2a-2ib+ia+b=4a+4ib-6i
o 2a+b+i(a—2b):4a+i (—6+4b)

e U S S S

X
+iY +iY!

_Jeatb=4a _[b=2a  _ b=77
a—-2b=-6+4b |a-12a=-6 6

S = E+Ei
Donc 11 11
2+ 2i

d) A=-4<0 donc 2 solutions complexes z, = — - 1+i

et



